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QUESTION 1

A network architect has designed a two-tier topology for the campus LAN and is planning to implement routing at the
core. Which requirement might cause the network architect to consider implementing routing at the access layer?

A. Employees in different VLANs need to use collaboration applications to share high- resolution graphic files
B. The solution must support an isolated VLAN for wired guest devices

C. Employees need to be placed in dynamic VLANS, assigned by a RADIUS server in identity, so that network
managers can manage the solution more easily

D. The customer has an HP Unified Wired-WLAN solution, and wireless users need to roam seamlessly across the site

Correct Answer: A

QUESTION 2
HOTSPOT

HP data center access layer can use top of rack (ToR) switches or End of Row (EoR)/Middle of Row (MoR) switches.
Select the design with advantage.

Hot Area:

Lower latency for a higher volume of server-to-server communications [

Here manageable cabling and potentially lower cost 10G-to-the server 1 v |

Quter isolation of traffic and issues ' o |
TOR
EOR

Correct Answer:
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Lower latency for a higher volume of server-to-server communications

TOR
EOR

Here manageable cabling and potentially lower cost 10G-to-the server +.,.-|

Outer isolation of traffic and issues | o

QUESTION 3

A network architect has planned several validation tests and user acceptance tests (UATSs) for a new HP solution. In
order to ensure meaningful results, what is one step that the network should complete before implementing the new
solution?

A. Talk with key authentication to determine valid maintenance windows for the UATs

B. Plan how long it will take to rollback the new solution of the tests indicate poor results

C. Schedule a point of no return, after which results will not be accepted

D. Run the same tests on the existing network solution

Correct Answer: D

QUESTION 4

Which benefit does In-Service Software Upgrades (ISSU) provide?

A. Schedules and performs switch upgrades through HP Intelligent Management Center (IMC)

B. Upgrades members of an IRF virtual switch one at a time to avoid services disruption

C. Upgrades members of thelRF virtual switch simultaneously to ensure all members use the same software version

D. Automatically checks for software updates on the HP Websites, downloads the new software, and upgrades the
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switches

Correct Answer: B

QUESTION 5

A network architect is designing a solution with HP products. A customer has the following requirements for controlling
the management access for administrators:

Administrators are assigned privileges when they log in based on their identity Security policies related to password
complexity and password rotation, like the company\\'s Windows domain policies, are enforced for administrator
credentials The company can easily revoke the access of administrator how have the company method Administrator
have a backdoor into the management interface in case network connectivity fails in any way

Which option meets the company\\'s requirements?

A. Authentication to a RADIUS server with local authentication as a secondary method

B. Authentication with a password that meets the complexity requirements and is stored locally on each device

C. Authentication to local user accounts with TACACS+ authenticates as a secondary method

D. Authentication to a TACACS+ server

Correct Answer: A
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